3anucaTb ypaBHeHUd 5.6 uiu 5.7 U napaMeTpu4eckoe ypaBHeHUe NpsiMou 5.8 u
(nnm) 5.10 pgJ19 NJIOCKOCTH YZI0BJIETBOPSIOILEN C/I€AYIOIIUM YCAOBUSAM:

(5.7 = , I EZ
s a b N
T = To+at,
(5.8) r=ro+ At, or { y=1y+HM,
2= 29+ ct,
510 Mz = z0) + by ~ yo) + ¢(z = 20) = 0,

az + by + cx = d, pu d = axg + byo + c20.

7 Mpamas yepes Toukn (1,-1,-5) (2,-3,-3)

2i — 3j + 6k.

10 (3, 4, -1) n napannenbLHO BEKTOPY

13 (3,0,-5) n napannenbHo BeEKTOpPY r=(21,-5)+(0,-3,1)t.
15 lMNMnockocTb Yepes Havano koopauHat un Touka (0, -2, 4) n (3,-2,-1)

19 lMNMnockoTb, Yepes ABe napanennbHble NpsiMble U3 Homepa 13.



